A RICHARDSONS INFORMATION SHEET

MAKING WORKSPACE WORK

KNOCK-DOWN

To assemble your Klime-Ezee Knock-Down unit you will require the following...
v Spanners to fit M8 bolts

v" For larger units you may require additional helpers to safely complete the fixing

Additional information

KKO5 - KK06 0 Bracings 0 Nuts & bolts required

KKO7 - KK09 1 Pair of bracings 4 x M8 Nuts & M8 Bolts (provided)
KK10 - KK12 2 Pairs of bracings 6 x M8 Nuts & M8 Bolts (provided)
KK13 - KK16 5 pairs of bracings 10 x M8 Nuts & M8 Bolts (provided)
Step 1...

K cCarefully wheel your step into an open
unrestricted area.

. D V_ 4P wre a2
K Then remove ONLY the WHITE tie wraps -‘\“\—‘L‘_‘

from both sides of your step as shown as ‘A’ ,“V e &
in diagram 1. S - —

» ==

DIAGRAM 1

Step 2...

K Leaving the step lay down, open it out to allow the two base side members,

shown as ‘B’ in diagram 1, to open down this will enable you to lock these into place on
the steps back axle.

K Once the base side members have been fit safely and are secure to the back
axle, the step can then be stood upright only if it is a smaller unit.

K You can now cut the remaining black cable ties to release the side cross and
diagonal bracing in diagram 2 which can now be bolted together. DO NOT ASCEND the
step to do this, please leave larger units lay down until all bolts are fastened.

DIAGRAM 2

Step 3...

K After a final check that ALL metal fastenings have been tightened, there is nothing left to say but congratulations
your step is ready to use!

Z/\ RICHARDSONS

MAKING WORKSPACE WORK
Tel: 01642 242228 | Web: www.richardsonsuk.co.uk




